S2A
LAC Dictation — Second Term

Date Subjects Sentences
March | CIT . The advantage of using technology is that it speeds up(fj[1Z£)
Passage 5/ communication.
Geography . The advantage of using technology is that the users can communicate (%
Passage 6 i )with people from all over the world.

. The disadvantage of using technology is that it creates isolated (#5 L T7HY)

people.

. The disadvantage of using technology is that we lose opportunities(f4%&r) of

meeting real people.

. About 80 percent of earthquakes (3E) occurred along the edge (i£4%) of

the Pacific Ocean (K-F) is known as the “Ring of Fire” (CKIR).

. Most earthquakes occur because tectonic plates collide (&) or slide (&

1T) against each other.

. Earthquakes can cause collapsing buildings (52 Z57), loss of life and

property.

. Volcanic eruptions (K [[[}#2%), mudflows (JJE)fit) and tsunamis (&) are

destructions caused by earthquakes.




CIT
Passage 7/
LS.

Passage 8

A 3D printer works like putting slices ;& J ) of bread together to form a loaf.
A 3D printer works like baking slices of bread and gluing (%5%) them
together.

Different kinds of objects can be produced by 3D printers.

Moving parts like hinges (£#) and wheels (EE#i) can be created.

Acid rain means precipitation([Z7K) that is acidic(EgEHY).

Air pollutants react with water and oxygen in the atmosphere (K 5R &) to
create acid rain.

The leaves of plants are destroyed (£¢1%) by acid rain.

The organisms (4:%)) living in water are killed by acid rain.




